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Question ID : 98958016979
Status : Answered
Chosen Option : 2
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18 +25-10x 10+ 5 = 203

Ans X" 1 x 3R+, 2535
of 2 xR~ 18825
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25 4.+81R+,183R5

Question ID : 98958016968

. Not Attempted and
" Marked For Review

Chosen Option : --

Status
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Question ID : 98958016977

Status : Answered

Chosen Option : 1

Q.4 39 I & T R [Siod Sy st avg @ H@difda & 99 ok Reafafaa agwg & dend
TfAd g1

(16, 4, 80)

Ans X" 1 (6,4,40)
W 2.(13,578)
K03.011,7,77)
5 4.(5570)

Question ID : 98958016970

Status : Answered

Chosen Option : 1

Q.5 F=fafEd el ot arfher ok arefea va A =mafa &R

1. g=a=

2. TGERAT

3. 2@

4. feremRTaTaT

5. ggTaeT
Ans &K 1.3,2,4,1,5

02.4,51,3,2
331425
& 4.53,1,4,2

Question ID : 98958016956

Status : Answered

Chosen Option: 3
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RIS

Ans
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Question ID : 98958016965
Status : Answered
Chosen Option : 4
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Question ID : 98958016980

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.8 fA=fafaq ar dearsi d @ 9 g e A a8e 9 e 9@ & 3R Tk 3ieT 81 39 3T
Tt g R

Ans & 1.73
o 287
53,59
X 47

Question ID : 98958016973
Status : Answered
Chosen Option : 4
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Question ID : 98958016959
Status : Answered
Chosen Option : 2
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Ans

Question ID : 98958016964
Status : Not Answered
Chosen Option : --
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Ans
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Question ID : 98958016978
Status : Answered
Chosen Option : 3
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Ans
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Question ID : 98958016975
Status : Answered
Chosen Option : 2
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2} e g« €1

13:65
Ans &' 1.21:85

K 2.17:42
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Question ID : 98958016969
Status : Answered
Chosen Option : 4

Q.14 fF=fof@e siaen d o ot e us Rg (2) & v wR enwfi?
6,10, 26,62,
Ans  of 1126
2,216
50392
K 4112

Question ID : 98958016972
Status : Answered
Chosen Option : 1

Q.15 ‘Lizard’ is related to ‘Reptiles’ in the same way as ‘Toad’ is relatedto ‘___".
Ans X" 1 Reptiles

o 2. Amphibians
x 3. Mammals
X 4. Vertibreta

Question ID : 98958016960
Status : Answered
Chosen Option : 2
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Question ID : 98958016963
Status : Answered
Chosen Option : 4

Q.17 af& RUBY <Rl 264 & =U & shisaw fohar T @ iR PAY <kl 126 & *U & shigag fohar mar g, at
RUPAY R &9 shisd forar stTaam?

Ans  of" 1 405
2,145
X381
X 4.375

Question ID : 98958016958
Status : Not Answered
Chosen Option : --

Q.18 i wue Ry 7q &, 5uas are = fsamd |1, 11 ofiz 11l g 71q &1 el il G Aed g, WA @Y @
T dR R A9 9241 & o1 gi, ag fAvfa +fifSig s &= ai/a e, =it ar anfdhes ®u @
SITERUT T &/ &l

HU:
Tt of2 gfifat &1
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fArsen:
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lll. o =id ueht &1

Ans X" 1. et e || SR Il SERT A §
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W 3 @f e |, 11 R 11 srgeRe a &
25 4. Sae e | SR 11 SrgERoT AR E1

Question ID : 98958016966
Status : Not Answered
Chosen Option : --

Q.19 IH HH=IY T TG o foIHH HETQ I g A Hafdd & o1 fo Frafaf@a ageaa 6 d=ang
GefAd g1

(7,4,65)

Ans X" 1(11,8,105)
o 2.(54,41)
253.(6,4,70)
X 4.(9,6,80)

Question ID : 98958016971
Status : Not Answered
Chosen Option : --

Q.20 QF 31&R & HUIST T =TT 2 Sit &1 TS 31&RT Y sjEer & R TU= # oFffie U 8 @ A w®
SJRET hl GRT AT




Ans
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K 2.sT
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48U

Question ID : 98958016961
Status : Not Answered
Chosen Option : --

Q.21

Ans

15 3T 20271 < TATE T i AT F3= ghm?
o 1.:FErR
25 2. afER
X 3.guaR
25 4. GER

Question ID : 98958016967
Status : Not Answered
Chosen Option : --

Q.22 GIHT WA h Tg 3R #ifgd i & 21 w7 wifga hY u=h siiz wvma < Arar €1 Wer uva T

Ans

P R
25 2. frar
f 3.1
X 4. =R

Question ID : 98958016962
Status : Answered
Chosen Option : 3

Q.23 Teh ahlS WTST &, MYCOLOGY &t PBFRORJV & =u # forar Sirar 1 39 urar & AMMONIA Rt

Ans

e forar smgm?
#< 1.DPQRQLD
o 2. DPPRQLX
75 3.CPPSQUX
5 4.DPJRQLX

Question ID : 98958016957
Status : Answered
Chosen Option: 2

¥ et wgfa & R e Asg 2

Ans

X113
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Question ID : 98958016976
Status : Answered
Chosen Option : 2
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Question ID : 98958016974
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 Fmfaf@a & & wl9-a1 ¢&-anry divedar T8 87
Ans X' 1 deREd

o 2 R

P R

5 4 sE=

Question ID : 98958016636
Status : Answered
Chosen Option : 2

Q.2 Fr=fafla d @ - e uradidig 7& ad &7
Ans  of 1 e

p R

X 3.3wm

X 4w

Question ID : 98958016639
Status : Answered
Chosen Option : 1

Q.3 F=fafea & & wa-+f dosh g Tave dut &2
Ans X" 1 g Hfiehes e wéaTgeR fRiftte

X 2. i g Rt

of 3. SShfReS R it

X 4. <o onif) ot g i

Question ID : 98958016631
Status : Answered
Chosen Option : 3
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Question ID : 98958016643

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 Rete |f Ta=tarsh & daf #, LIDAR a1 quf 0 orm &2
Ans X" 1. wiTge SEARH U RuctarH
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Question ID : 98958016634
Status : Answered
Chosen Option: 3

Q.6 T @R & Prefafae § @ #9-a1 orqede WRa & AEARY F gTa & et &7
Ans X' 1 e 74

X 2. argede 103

5 3. agwe 78

o 4. org=de 54

Question ID : 98958016646
Status : Answered
Chosen Option : 3

Q.7 fFrafaf@a & @ fRrem eeht ar 'orae far 1 siish & srame frar ar?
Ans x 1. Sifst et

25 2. e

of 3. T R

25 4. e sk @y

Question ID : 98958016630

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.8 S 2019 # urfhear i dex afdw ffasia(ISI) & Y AerReres & wu § fhd g fovar mamr?
Ans X' 1 Rare géda

X 2wt

25 3. Refam R

o 2 teeie

Question ID : 98958016651
Status : Answered
Chosen Option : 4

Q.9 A savings fund in which both, the employer and the employee contribute regularly in the
interest of the employee is known as:




Ans

x 1. Index Fund
x 2. Balanced Fund
X 3. Mutual Fund
( 4. Provident Fund

Question ID : 98958016632
Status : Answered
Chosen Option : 4

Q.10 fA=fafaa & @ fora Iueor 3 1€ 2019 # Tier ue= 3ialRar dhe T RISAT-2B Iung dt- forar

Ans

um?
X 1. dioggerd- @42 (PSLV-C42)
25 2. digagerd- 926 (PSLV-C26)
o 3. droguet- 46 (PSLV-C46)
25 4. drgagerdt- @41 (PSLV- C41)

Question ID : 98958016653
Status : Answered
Chosen Option: 1

Q.11 hsA 59 asirse (Freedom in Exile)' forareht arremeran 87

Ans

2501, Ao B
X 2. wgrem e
X 3. fog Fomf
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Question ID : 98958016645
Status : Answered
Chosen Option : 1

Q.12 gt A W R Frg famr ¥ (NIMHANS) &gl ur foa 87

Ans

VAR
28R
5 3. @rerehrar
X 4 gg

Question ID : 98958016633
Status : Answered
Chosen Option : 1

Q.13 According to Randsatnd Employer Brand Research 2019 Report, which of the following has

Ans

been rated as India's most attractive employer brand?
x 1. Microsoft

x 2. Larsen and Toubro

X 3. Samsung
« 4. Amazon India

Question ID : 98958016652
Status : Answered
Chosen Option : 4

Q.14 Aol d & H9-91 YR gRT fAofaa guvaeges 82

Ans

K1 EEe




25 2. st
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Question ID : 98958016637
Status : Answered
Chosen Option : 4

Q.15 1979 w1 fehhe R Fa_____ gRr Shar mar ami
Ans  of 1 dwidw

X 2. sirgfer

25 3. i

X 4.9

Question ID : 98958016650
Status : Answered
Chosen Option : 1

Q.16 seqd s R dd s d A g?
Ans X" 1 gftierrg

25 2 sy R

& 3. sifeam

o 4 3=

Question ID : 98958016640
Status : Not Answered
Chosen Option : --

Q.17 =i githt F=faifEa & & fore @« & Haifda 82
Ans X 1. E R

2 2. g
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Question ID : 98958016649
Status : Answered
Chosen Option: 3

Q.18 fAmfafEa # & fordt faifeer wra o1 ugen arawrm fAges forar mar an?

Ans & 1. il aree
W 2 &R
X 3.argsfEm
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Question ID : 98958016642
Status : Answered
Chosen Option : 2
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Ans X" 1 dgeroem - s
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Question ID : 98958016629
Status : Answered
Chosen Option : 2

Q.20 fA=fofaa d & -4 viwag &w &2
Ans X 1. qud R

W 2 dqestw

2K 3. Reeht ftrees

X 4 TR AT

Question ID : 98958016648
Status : Answered
Chosen Option : 2

Q.21 gRighe Fiy ford 7 R a=Tar war g7
Ans X1 g

W 2 T
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X 4.z

Question ID : 98958016638
Status : Answered
Chosen Option : 2

Q.22 R4 3R QFAT 1 ugar SRR ST S # wurfie forar s
Ans  of 1 e

X 2.8Rer
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25 4. armorht

Question ID : 98958016635
Status : Answered
Chosen Option : 3
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Question ID : 98958016641
Status : Not Answered
Chosen Option : --
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Ans  of 1 srufiita
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2 3.
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Question ID : 98958016644




Status : Answered
Chosen Option : 4

Q.25 frfafa # @ o dtera & uget Suteasr & wu F s faar mar ar?
Ans X 1 R RE

X 2. Rrgeré & weet

25 3. ot ff AreeiaR
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Question ID : 98958016647
Status : Answered
Chosen Option: 3

Section : Quantitative Aptitude

Q.1 snww w9 & e, B e & ow vyee o goaer 9 W A ity @ dlw @ E
JeATFR T F Fg ¥ HISIRT T I FIT 7 TF e F SR 3HF AN a7 FHT AT FoT F10°
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ars X110
~ 220
v 5
X 4
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Question ID : 98958017370
Status : Answered
Chosen Option : 4

Q2 3EE e vw 7IA FOT ¥ AR 3(cosec?0+ cot?0) = 5 Ry AT ¥ A 6 Frwd s g
Ans X-L 0°

X 2 30°

v 3 60°

X 4 45°

Question ID : 98958017376
Status : Not Answered
Chosen Option : --

Q3w 12% 3R 8% # & FiEE ge & o5 G aFg F 688.16 H &= AT & SHH Ak Hew
&7

Ans 1. 7800
X 2 820
V'3 7850
X 4 7900

Question ID : 98958017360
Status : Not Answered
Chosen Option : --

Q4 17 e Fr gEAT 78x 1y 68, TEAT 88 W NS ¥l (x+y) I AT T
ans X113
X2 14




X310
v i 11

Question ID : 98958017365
Status : Not Answered
Chosen Option : --

Q.5 frdr faeer ABC &, AC % TRIY T @1t 1am PQ 58 5&R & 75 Area ABC : Area PBQ = 3 : 1
& CB : CQ ==Y &

R ICEEEY

Ans

X 2 \-'E—E

2

v EW3+1)

: V3
4. 32
X 2

Question ID : 98958017373
Status : Not Answered
Chosen Option : --

Q.6 A B 3 C e =1\ & FA 20, 24 3R 36 A F W W W & iy ¥ vy fAeeT FR
Fa & @ I O A T 3w e BE weEe

16
v BE
. 1
< 2 6;
. 19
XS. 75
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Ans

Question ID : 98958017356
Status : Not Answered
Chosen Option : --

Q7 i wwegeer % fawol waer 4 cm 3R 12 om F1 gEE SuHe (cm?® F) W &
Ans x1- 8

V2 24

X312

X 4 36

Question ID : 98958017358
Status : Answered
Chosen Option : 2

Q.8 =7 st A wIfeE &r § O wRgfE s W BR & o i Mfteg offr J= ot sl o ot
# e 38,000 3T 27,000 & ST ¥ suer v 27 wava Fw i

As  of 1 BQ
<210
X305
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Question ID : 98958017364
Status : Answered
Chosen Option: 2

Q9 Ffr Bx+ 1)+ x—3)P+(2x—4)2=6GBx+1DE-3)(x-2) § aF x e &

Ans X1_ £
X2

R
X43

Question ID : 98958017369
Status : Answered
Chosen Option : 1

Q.10 == #r g SaT? AB Y CD, Tw-g@y # ged & X R O W wed §) fmw s & fF A = 1 em,
AB =13 cm, CD = 8 cm & CO 3k OD # & 72 3R ©IE 1 F7 3repa &4 87

Ans X 1.9:7
<211:5
vi33:1
X45:3

Question ID : 98958017371
Status : Answered
Chosen Option : 4

Q11 gfy 0 v =g HI7T ¥ 3R 5sind+ 12 cosd = 13, AT AT ¥ A tan® F AA FT EET?
Ans 12

A
y R
Vil
y K8 =

Question ID : 98958017375
Status : Answered
Chosen Option : 3

Q.12 uﬁﬁwﬁmmﬁﬁﬁmmisﬁm%aﬁﬁﬁﬂmirﬁﬁﬁm@wm
g @ 10 fwe TF FRied T S gl AR M W AR A I S & A gh 25 km B, A aw
HR FR F A T F geEA F ¥R, ¥HE WA A A &

Ans 3

X‘I.E
p R
Ko —

(4.1

Question ID : 98958017357
Status : Answered




l Chosen Option : 4

Q.13 fagr smav &= 3 (AW Iw) @7 fawT FF A, B it C & gmw ww & e mw wE & w=ed,
w=ly, A AR e, 2018 & 2l (1000 kg #) TEfr v g g

u
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] ] L} °
8 [} 8
2 H
6 A
| i “
ue
N
2
0
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Months
B & Rkt @ A it C & TgFw TR F AU F AW & IER, 3RE FA A srartud S

XK e, el J, e
X 2 FAad), e, A, wEdr
v FAE, AN, A, SE
X 4 A, AT, TEL, T

Question ID : 98958017380
Status : Answered
Chosen Option : 3

Q.14 faan &5 3@ (I %) & BT 2t A, B 3T C ¥ g 9w F e @ @i Hr S=ah,
AT, A HIT 3, 2018 % S (1000 kg #) Thr @ gmer 71

u
10
] ] 0 a
[} 8 8
2 7
3 '
| i “
=
3
0
Mar-18 Apr-18

fan 18 fen18

Sales in 1000 kg

Months

et wéier & gere #, A 2018 # B Y Ry gfaar awr ¢ Fr Thr gfeer 7 Fr e §2
as X1.9:16

X210 : 19
X39:19
v 10 : 21

Question ID : 98958017379
Status : Answered
Chosen Option : 1

Q.15 egmgr-smnfya fomdr fRmer $r olvem 1 qoite 100 &1 Haifeer-adien, saregris-weT, TiEs-FE d#R
ATl &g F F R FA 40%, 30%, 20%, 10% ¥ e sedear & Seifoe-aieT #
80%, ATERTILR-TUET & 70%, IRE=ar-#d # 60% 3T Aiem-adem & 50% 3% 9 el 59
T odE Wiard F#=4T ur?

As  of 170
< 2 68
X372
X 4 67

[ Question ID : 98958017361




Status : Answered
Chosen Option : 2

01 ST F @ FF 0°<0<90° $r IF # fRaT gear 72
Ans X 1. cosecB

< 2 cosB

< 3 cotd

« 4 tan@

Question ID : 98958017374
Status : Answered
Chosen Option : 4

Q.17 et fager 7 94T (circumcentre), 3E#% (incentre), S (orthocentre) 3R HRT (centroid) T
& fag §1 fee dem
(a) G’Hﬁﬁ:’ﬁ@ (isosceles) (b) THHIUT (right-angled) (c) THHOT ;maﬁmg (right- angled isosceles) (d)
LRI (equilateral)

e 1 (d)
X2 (a)
X5 (b)
X1 (0

Question ID : 98958017372
Status : Answered
Chosen Option : 4

Q.18 i s €5 3M@ (IR IF) &7 fBFT FF A B 3T C F garwr 9 F =l @rw #is fr 57,
wREY, A AR e, 2018 & SR (1000 kg #) fdhr & gaar

n
10
£} ? £} £}
® 5 8

4 H

3 '
| . “

13
3
2
0
Mar 18 Apr-18

fan- 18 Feb R

Sales in 1000 kg

Months
B #r sfx A® stwa R # A6, ¢ F goer # Fraer 30w nEr w4 B2

A 11000 kg T 3RF
X2 500 kg & 30
X3 800 kg & ®H
X 41000 kg ¥ FH

Question ID : 98958017378
Status : Answered
Chosen Option: 2

Q.19




far Tmar 33 3w (AR %) A7 ST FEF A, B T C F = 9w F G @w i # S= =,
W, A 3R e, 2018 & ae (1000 kg &) Rshr @ guier §i
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a0 W e e we B B
&
§ &
13
s
.
¥ -
e
-
i a
-
“
z "
-
s

Months

FATO-AT, 2018 F g A F Zanr 9 7 Hioa Rehr 77 2
Ans 1. 7334.67 kg

X 2. 5500 kg
X 3. 7505 kg
v & 7333.33 kg

Question ID : 98958017377
Status : Answered
Chosen Option : 4

Q20 ol dear i 3% oha 1 A 4 1 6% uF AR 3ES goea w0 A &
Ans X 1. 288

V2 244

/< 3. 256

X 4142

Question ID : 98958017359
Status : Answered
Chosen Option : 3

Q.21 TR 41{(3+ i)z_(a_i)z} w AT &

Ans

1
X‘I...z..
1
X2
X34
v

Question ID : 98958017367
Status : Answered
Chosen Option : 2

Q22 & awgt v 18,602 & = | w IEg N 31% o @T § AR gEdy aFg W 29% # @y @
8 50 X F-A F T Rewr wfowra amer gan v At 92

Ans X1 8.25% gy

< 2 8.25% oH
<3 7.91% =M

v 4 7.91% gifa




Question ID : 98958017362
Status : Not Answered
Chosen Option : --

Q.23

-6
ooy — &1 WIS AT &
Ans 11,0505
X 2.1.0025
X 3.1.0005
v 4 1.0525

Question ID : 98958017368
Status : Answered
Chosen Option : 2

[ T 0 I S S B

Question ID : 98958017366
Status : Answered
Chosen Option : 4

% Mra:b:c=1:3:5% @2 gomard

3(a+b+c)

Question ID : 98958017363
Status : Answered
Chosen Option : 1

Section : English Language

Q.1 Select the most appropriate meaning of the given idiom

draw a blank
Ans X" 1 be lucky in a game

x 2. be unable to sketch
x 3. be happy about something

( 4. be unsuccessful

Question ID : 98958016291
Status : Answered




l Chosen Option : 4

Q.2 Select the most appropriate word for the given group of words

The statistical study of the population
Ans X" 1 anthropology

J 2. demography
X 3. sociology
X 4. psychology

Question ID : 98958016293
Status : Answered
Chosen Option: 2

Q.3 Identify the segment in the sentence which contains the grammatical error.

The two states frequently has differences over the use of the river water especially during
the summer months.

Ans ( 1. has differences
X 2. over the use of the river water
X 3. especially during the summer months

X 4. The two states frequently

Question ID : 98958016272
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate synonym of the given word.

FLEETING
Ans X" 1 lasting

X 2. ready
( 3. momentary
X 4. complete

Question ID : 98958016286
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

After a lesson on negative sentences, a pupil tells his teacher, "l ain't got no pencils." She
corrects him immediately saying, "The correct way to say (1) is, "l don't have any
pencils". "We don't (2) any pencils." "He (3) have any pencils. They don't have any
pencils. (4) you understand?" asks the teacher. "No," the boy answers, astonished. "(5)
___ happened to all the pencils?"

SubQuestion No : 5
Q.5 Select the most appropriate option to fill in blank No.1.

Ans B¢ 1 those
o 2t
x 3. them
75 4. which

Question ID : 98958016279
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

After a lesson on negative sentences, a pupil tells his teacher, "l ain't got no pencils." She

corrects him immediately saying, "The correct way to say (1) is, "l don't have any

pencils". "We don't (2) any pencils." "He (3) have any pencils. They don't have any

pencils. (4) you understand?" asks the teacher. "No," the boy answers, astonished. "(5)
happened to all the pencils?"

SubQuestion No : 6
Q.6 Select the most appropriate option to fill in blank No.2.

Ans X' 1 having
x 2. had
x 3. has
( 4. have

Question ID : 98958016280
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

After a lesson on negative sentences, a pupil tells his teacher, "l ain't got no pencils." She
corrects him immediately saying, "The correct way to say (1) is, "l don't have any
pencils". "We don't (2) any pencils." "He (3) have any pencils. They don't have any
pencils. (4) you understand?" asks the teacher. "No," the boy answers, astonished. "(5)
______happened to all the pencils?"

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank No.3.

Ans X 1. does
( 2. doesn't
x 3.do
x 4.don't

Question ID : 98958016281
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

After a lesson on negative sentences, a pupil tells his teacher, "l ain't got no pencils." She
corrects him immediately saying, "The correct way to say (1) is, "l don't have any
pencils". "We don't (2) any pencils." "He (3) ____ have any pencils. They don't have any
pencils. (4) you understand?" asks the teacher. "No," the boy answers, astonished. "(5)
happened to all the pencils?"

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank No.4.

Ans 1 Have

X 2. Does
( 3.Do
x 4. Doesn't

Question ID : 98958016282
Status : Answered
Chosen Option: 1

Comprehension:




In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

After a lesson on negative sentences, a pupil tells his teacher, "l ain't got no pencils." She

corrects him immediately saying, "The correct way to say (1) is, "l don't have any

pencils". "We don't (2) any pencils." "He (3) have any pencils. They don't have any

pencils. (4) _____ you understand?" asks the teacher. "No," the boy answers, astonished. "(5)
happened to all the pencils?”

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank No.5.

Ans X" 1 How

x 2. Where
W 3. What
75 4. Which

Question ID : 98958016283
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate synonym of the given word.

ANOMALOUS
Ans X' 1 unhealthy

x 2. indirect
( 3. peculiar
x 4. common

Question ID : 98958016287

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.11 Select the most appropriate word for the given group of words

A person who is skilled at writing beautifully
Ans ( 1. calligrapher

X 2. artist
x 3. painter

x 4. cartoonist

Question ID : 98958016292
Status : Answered
Chosen Option: 1

Q.12 Select the most appropriate antonym of the given word.

CHRONIC
Ans X" 1. continuing

( 2. infrequent
x 3. routine
X 4. regular

Question ID : 98958016289
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate word to fill in the blank.

It is not of language that makes one an ineffective speaker; it is the dearth of ideas.

Ans




x 1. complexity
x 2. difficulty
i 3. poverty
X 4. intricacy

Question ID : 98958016297
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

The express bus generally stops at only the major towns on the route.

Ans X 1. generally stopping on only the major towns
x 2. generally stop in only the major towns
x 3. generally stopped from only the major towns

( 4. No improvement

Question ID : 98958016276
Status : Answered
Chosen Option : 4

Q.15 Select the correct indirect form of the given sentence.

The doctor told his patient, "Continue the same course of medicines for the next week."

Ans X 1. The doctor told his patient that he may continue the same course of medicines in
the following week.

x 2. The doctor told his patient to continued the same course of medicines in the next
week.

X 3. The doctor told his patient for continuing the same course of medicines for the next
week.

i 4. The doctor told his patient to continue the same course of medicines for the
following week.

Question ID : 98958016275
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate meaning of the given idiom

late in the day
Ans X" 1 t00 old to work

X 2. too dark to see anything
( 3. too delayed to be of any use

X 4. too ripe to eat

Question ID : 98958016290
Status : Answered
Chosen Option: 1

Q.17 Select the most appropriate antonym of the given word.

MENTAL
Ans & 1 strength

( 2. physical
25 3. ability
x 4. brainy




Question ID : 98958016288
Status : Answered
Chosen Option : 2

Q.18 Identify the segment in the sentence which contains the grammatical error.

The childrens are fond of climbing the mango tree in the garden.
Ans X" 1 are fond of

X 2.inthe garden
o 3. The childrens

x 4. climbing the mango tree

Question ID : 98958016273
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

If | does not pay my post-paid mobile bill by tomorrow I will probably have to pay a fine.
Ans X" 1.If| had not paid

( 2. If 1 do not pay
x 3. No improvement
x 4.If I has not paid

Question ID : 98958016277
Status : Answered
Chosen Option : 2

Q.20 Select the correctly spelt word.
Ans X" 1 turbulance

X 2. turbulense
( 3. turbulence
x 4. terbulence

Question ID : 98958016294
Status : Answered
Chosen Option: 1

Q.21 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Today, man is master of the world and he makes the animals do what he likes.

B. Others he eats; and those like the lion and the tiger, he shoots for pleasure.

C. Early man, when he first came, must have been surrounded by many huge animals, and
he must have lived in fear of them.

D. Some he tames like the horse, the cow, the elephant, the dog, the cat and so many others.

Ans  of 1 cADB

25 2.ACBD
25 3.BCDA
75 4.cBDA

Question ID : 98958016284
Status : Answered
Chosen Option: 1

Q.22 Select the wrongly spelt word.

Ans ( 1. comencement




x 2. resentment
x 3. continuation

x 4. triangulation

Question ID : 98958016295
Status : Answered
Chosen Option: 1

Q.23 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. But now that his father had asked him to fetch some cheroots, he would have to pass by
the high school to reach the shop.

B. The teachers and students would all be there, and he was ashamed of being seen
outdoors.

C. Of late Krishna had confined himself to the four walls of the house.

D. Wondering how to get past the school unnoticed, he slowly ventured out.

Ans X" 1. DACB

75 2.cBDA
o 3.crBD
25 4.ACBD

Question ID : 98958016285
Status : Answered
Chosen Option : 3

Q.24 Select the most appropriate word to fill in the blank.

The Chairman advised them to build a bridge between the two companies using and
compromise.

Ans X" 1 strength

x 2. control

x 3. competition

( 4. negotiation

Question ID : 98958016296
Status : Answered
Chosen Option : 1

Q.25 Select the correct passive form of the given sentence.

They will not allow mobile phones in the examination hall.

Ans x 1. Mobile phones are not allowed in the examination hall.
x 2. Mobile phones are not being allowed in the examination hall.
( 3. Mobile phones will not be allowed in the examination hall.

x 4. Mobile phones were not allowed in the examination hall.

Question ID : 98958016274
Status : Answered
Chosen Option : 3




